Math378 Quiz 11 Wed. Apr 13, 2022

Selvhans

Name:

Directions: Show all work.

1. [2 parts, 3 points each]| Binomial Theorem.

(a) Use the binomial theorem to expand (x2 4+ 1)
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(b) Differentiate both sides of part (a) to find a formula for ), 2k(})32*1.
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2. [4 points] How many integer solutions are there to x; + ...+ xg = 50 such that 0 < z; <5
for each 7 Use inclusion/exclusion to give a summation formula.

e Sl h x4t x, =S5O

For feieg  GF A, he T sdibians U wiln X 206

e £ Sefe] o 8=k ™ [\QSAJ\:%SO)MA, 84 mvh =~k
= Dbk shs 7 bus
= ((56 ew+(77) (57 ca)

S o' Na) 1S e W‘J




